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ga

Fs

Fs

o ck
o ca
Ta

3.800 (m)

10.0  (kN/n?)
24.5  (kN/m)

30.00 (° )
19.0  (kN/m*)

0.577
0.0  (kN/m)
155.06  (KN/n?)

1.50
1/6 B
1.50

30 (N/mm*)
10.00 (N/mm?*)
0.45 (N/mm*)

160 (N/mm*)

)

No.



No.

§2
2.1

CLP  (H)3800x (B)2550
0.120

K>

10kN/m?

3.800

H=

)
'[

B= 2.550




§3

3.1

3.1.1

@
SV SH e ¢ O
(kN) (kN) (m) Fs Fs (kN/m? )
214.35| 58.40| 0.359 3.65 2.12 | 155.06  13.05 | 0.K.
0.425 1.50 1.50
I

155.06

e = 0.359
1

B = 2.550

13.05

No.



3.1.2
@

ZV 2 H e Qqu [0}

(kN) (kN) (n) Fs Fs (kN/? )

190.05 58.40 0.413 3.21 1.88 146.95 2.10 | 0.K.

0.425 1.50 1.50
TRITR
e = 0.413

146.95

2.10

No.



3.2
3.2.1

3.2.2

No.

b (mm) 1000 1000
d (mm) 80 220
D19 - 7.5 D19 - 7.5
2
As () 2149 2149
X (mm) 46.5 91.1
” o ) 1.06 x 10° 53.32 x 10°
3 3
S ) 3.97 x 10 45.19 x 10
gc 0.71 6.17
(N/mm*) o ca 10.00 10.00
gs 7.6 130.8
(N/mm*) o sa 160 160
T 0.05 0.21
(N/mm*) T ca 0.45 0.45
b (mm) 1000 1000
d (mm) 220 80
D19 - 7.5 D19 - 7.5
2
As () 2149 2149
X mm . .
91.1 46.5
M o ) 53.32 x 10° 6.30 x 10°
3 3
S 0 14.52 x 10 26.08 x 10
gc 6.17 4.20
(N/mm*) o ca 10.00 10.00
gs 130.8 45.5
(N/mm*) o sa 160 160
T 0.07 0.33
(N/mm*) T ca 0.45 0.45




§4

4.1

4.1.1

D

4.2

1.000 m

x y)

No.



4.2.1
@
iy
A X y A X Ay
(m) m @) | (m (m) (m) (m)
2.550x 3.800= 9.690 | 1.275| 1.900 12.3548 18.4110
al- 0.140x 0.800= -0.112 | 0.190 | 3.400 -0.0213 -0.3808
b|-1/2x 0.140x 2.740= -0.192 | 0.213 | 2.087 -0.0409 -0.4007
c|- 1.840x 3.540= -6.514 | 1.180 | 2.030 -7.6865 | -13.2234
d| -1/2x 1.840x 0.140= -0.129 | 1.487 | 0.213 -0.1918 -0.0275
el - 0.450x 3.680= -1.656 | 2.325 | 1.960 -3.8502 -3.2458
1.087 0.5641 1.1328
a
Vo= XA L= 1.087 x 1.000 = 1.087 (n*)
V =Vo yc= 1.087 x 24.5= 26.63 (kN) b c
A X 0.5641
X s A 1.087 0.519 (m)
TA Yy 1.1328 C,
y S A 1.087 1.042 (m
)
iy
A X y A X Ay
(m) m (@) | (m (m) (m) (m)
2.430x 3.680= 8.942 | 1.335| 1.960 11.9376 17.5263
a|-1/2x 0.140x 2.740= -0.192 | 0.167 | 1.173 -0.0321 -0.2252
b - 0.140x 0.140= -0.020 | 0.190 | 0.190 -0.0038 -0.0038
c| -1/2x 1.840x 0.140= -0.129 | 0.873 | 0.167 -0.1126 -0.0215
8.601 11.7891 17.2758
Vo= XA L= 8.601 x 1.000 = 8.601 (n*)
V =Vo ys= 8601 x 19.0= 163.42 (kN)
a
A X 11.7891 ‘
X = s A 8601 1.371 (m)
bl C
A y 17.2758 A
y S A 8.601 2-009 (m)

No.



4.2.2
V =g b L=10.0x 2.430 x 1.000 = 24.30 (kN)
x =B -2 = 2550 - 240 1 33sm)
2 2
4.2.3
W sin(w-¢)

cos(w-¢ -0 -a )

Pa (kN/m)

W (kN/m)

W ¢)

® ¢)

g ¢)

a ¢)
V =Pa sin(6 +a) L
H =Pa cos(® +a) L

Vo, H: (kN)
. )  L=1.000 (m)

— .
~

No.



No.

h =  3.800 (m)
Pa
a = 0.00 () kN/m)
W = 100.74 (kN/m) [ 21.85] 5%
w = 60.00¢) 0
6 = 0.00(C) 50.01
® = 30.00 (°)
25.0f
% 4 =0 go 70 90
w()
ba = 100.74 x sin(60.10 - 30.00)
cos (60.10 - 30.00 - 0.00 - 0.00)
= 58.40 (kN/m)
I
w Pa W
65.00 57.200 81.69
64.00 57.623 85.43
60-10° 63.00 57.966 89.26
62.00 58.207 93.15
61.00 58.344 97.10
* 60.10 58.397 | 100.74
60.00 58.387 | 101.13
59.00 58.341 | 105.25
58.00 58.206 | 109.47
57.00 57.969 | 113.77
56.00 57.630 | 118.16
V = 58.40 x sin( 0.00 - 0.00) x 1.000 = 0.00 (kN)
H = 58.40 x cos( 0.00 - 0.00) x 1.000 =  58.40 (kN)
X = 2.550 (m)
y = ~3-800 = 1.267 (m)
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No.

8§85
5.1
1)
>V tand +C B L
Fs = = S H Fsa
Fs
Fsa : Fsa = 1.50
>V (kN)
>H : (kN)
tand :
tand = 0.577
C C = 0.0 (kN/m*)
B B = 2.550 (m)
L ( ) L= 1.000 (m)
2)
2 Mr
Fs = s Vo Fsa
Fs :
> Mro: (kN m)
> Mo : (kN m)
Fsa : Fsa = 1.50
d e
q = > Mr - 2 Mo
- TV
B
e = > T d
>V (kN)
> Mr (kN m)
> Mo (kN m)
B B = 2.550 (m)
e
1
e 6 B

10



3

Qr,Q2 -
2 Mr :
2 Mo :

>V

o ® r

(KN/m?)
(N m)
(N m)
(kN)
B = 2.550 (m)
L =

B
S - d

2 sV
T3 gL
(o} >V 6 e
¢ B L CF g

2 sV
® T3e-0 L
1.000 (m)

(m

(m

)

No.

11



5.2
5.2.1

D

2)

No. 12

No v H X y Mr Mo
(kN) (kN) (m) (m) (kN m) (kN m)
1 26.63 0.519 | 1.042 13.82
2 163.42 1.371| 2.009 224.05
3 24.30 1.335| 3.800 32.44
4 58.40 | 2.550 | 1.267 73.99
z 214.35 58.40 270.31 73.99
HJH@MJ [T
2
1 —4
&
Fs = >V p +c B L _ 21435 x 0.577 + 0.0 x 2.550 x 1.000
B T H B 58.40
= 2.12 Fsa = 1.5
> Mr 270.31
Fs = s Mo 73.99 3.65 Fsa = 1.50
R
> Mr - X Mo 270.31 - 73.99
d = sV ) 214.35 = 0.916 (m)
R
e = 2 -d= 2'250 - 0.916 = 0.359 (m)

0.359 (m) 4%* B = 0.425 (m)



3)

(o} ZV 6 e

214.35 6 x 0.359

¢ B L Htg )T

155.06 (KN/n?)
13.05 (kN/?)

155.06

x (1%
2.550 x 1.000 2.550

I

e = 0.359
1

13.05

B = 2.550

No.
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5.2.2

D

2)

No. 14

No v H X y Mr Mo
(k\) (k\) (m) (m) (KN_m) (KN_m)
1 26.63 0.519 | 1.042 13.82
2 163.42 1.371| 2.009 224.05
3 58.40 | 2.550 | 1.267 73.99
z 190.05 58.40 237.87 73.99
2
S
1
U
Fs = >V p +c B L _ 190.05 x 0.577 + 0.0 x 2.550 x 1.000
- ZH - 58.40
= 1.88 Fsa = 1.5
> Mr 237.87
Fs = s Vo 7399 3.21 Fsa = 1.50
R
> Mr - X Mo 237.87 - 73.99
d = sV 190.05 = 0.862 (m)
R
e = B -d= 2-550 - 0.862 = 0.413 (m)
2 2
1
le] = 0.413 (m) 5 B = 0.425 (m)



No.

3)

¢ _ ZV . 6e 190.05 , 6x 0413
¢ B L 5 )7 2m0x 1000 ¢ (L 2.550 )
146.95 (kN/m)
2.10 (kN/m)

2.10

146.95

15
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No.

§6

6.1

0rs ¢




No.

6.2
6.2.1
1
Pa
a = 2.92(C) gki/m
W= 9.71 (kN/m) [ 5.34] '
w = 56.30 °) a0
5 = 20.00 °)
® = 30.00 (°) 3.0
2.0]
1.0|
%% 4 50 3 60 70 80 90 100
w()
ba = 9.71 x sin(56.30 - 30.00)
" cos (56.30 - 30.00 - 20.00 - 2.92)
= 4.31 (kN/m)
LT O OO T T
| 56.30°
w Pa W
61.00 4.224 8.12
\\| 60.00 4.252 8.44
59.00 4.281 8.78
58.00 4.289 9.10
57.00 4.301 9.45
* 56.30 4.310 9.71
56.00 4.302 9.80
55.00 4.297 10.16
54.00 4.288 10.54
53.00 4.263 10.91
52.00 4.234 11.30

17



2)

No.
a = 2.92 (°)
W = 107.02 (kN/m) [ 24.21]
w = 57.20 (°)
o = 20.00 (°)
@ = 30.00 (C°)
0% "4 s 6 70 80 100
w(®)
Py = 107.02 x sin(57.20 - 30.00)
cos (57.20 - 30.00 - 20.00 - 2.92)
=  49.06 (kN/m)
N
w Pa W
62.00 48.078 89.59
57.20° 61.00 48.426 93.09
60.00 48.691 96.64
59.00 48.887 100.27
58.00 49.013 103.99
* 57.20 49.055 107.02
57.00 49.055 107.78
56.00 49.015 111.65
55.00 48.895 115.62
54.00 48.691 119.69
53.00 48.392 123.85
H =Pa cos(® +a) L
L ( ) L = 1.000 (m)
Pa o a H y
(kN/m) (D) (D) (kN) (m)
4.31 20.00 2.92 3.97 0.267
49.06 20.00 2.92 45.19 1.180

18



6.3
6.3.1

6.3.2

6.4
@

No.

H = 3.97 (kN)
H = 3.97 x 0.267
= 1.06 (kN m)
H = 45.19 (kN)
H =45.19 x 1.180
= 53.32 (kN m)
b = 1000 (mm) |ooooooo|E
d = 80 (mm)
As = D19 - 7.5 ! 1000 !
= 21.49 (cm’) = 2149 (mm*)
n = 15
n As 2 b d
= -1+ 1+ N AS
15 x 2149 2 x 1000 x 80
= 1+ /14
1000 15 x 2149
= 46.5 (mm)
M= 1.06 (kN m)
S = 3.97 (kN)
_ 2 M _ 2 x 1.06 x 10°
b x d- Ag, 1000 x 46.5 x (80 - 42'5 )
= 0.71 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
_ M _ 1.06 x 10°
- X - 46.5
As d - 3 2149 x (80 - 3 )
= 7.6 (N/mm?*) osa= 160 (N/mm*) 0.K.
_ s 3.97 x 10°
~ b d 1000 x 80
= 0.05 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

19



&)

No.
&
b = 1000 (mm) 00000 0o | L
d = 220 (mm)
As = D19 - 7.5 1000
= 21.49 (cm’) = 2149 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 2149 2 x 1000 x 220
= 1+ /14
1000 15 x 2149
91.1 (mm)
M= 53.32 (kN m)
S=  45.19 (kN)
2 M _ 2 x 53.32 x 10°
b x d- Ag, 1000 x 91.1 x ( 220 - 9;'1 )
6.17 (N/mm?*) o ca = 10.00 (N/mm*) 0.K.
M _ 53.32 x 10°
X - 91.1
As d - 3 2149 x (220 - 3 )
130.8 (N/mm?) osa= 160 (N/mm*) 0.K.
s 45.19 x 10°
b d = 1000 x 220

0.21 (N/mm*)

Ta = 0.45 (N/mm*) 0.K.

20



§7 ( )
( )
7.1
]
2.290
¢H)
A X
(m m ) (m A x (m)
2.290x 0.260= 0.595 1.145 0.6813
a| -1/2x 1.840x 0.140= -0.129 1.227| -0.1583
b - 0.450x 0.140= -0.063 2.065| -0.1301
0.403 0.3929
SA x 0.3929
X =75 a T o0 - 09
S =A yc L= 0.403x 24.5x 1.000 =  9.87 (kN)
M =S x = 9.87x 0.975=  9.62 (kN m)

a—L b3

No.

21



&)

A X
(m m ) (m A x ()
2.290x 3.680= 8.427 1.145 9.6489
a| -1/2x 1.840x 0.140= -0.129 0.613 -0.0791
8.298 9.5698
A X 9.5698
X = 5 A = 8208 - 1.153 (m)

S =A ys L= 8298 x 19.0 x 1.000 = 157.66 (kN)

M =S x = 157.66 x 1.153 = 181.78 (kN m)

)

10.00 (kN/n?)

o
1]

S =g b L= 10.00 x 2.290 x 1.000 = 22.90 (kN)

1.145 (m)

x
1]

M =S x= 22.90x 1.145= 26.22 (kN m)




©)
D

2)

Q:
Q2

Qs

155.06 (KN/n?)
13.05 (kN/?)

G + (G- G) 44%3,: 13.05 + ( 155.06 -  13.05)x ;::28
140.58 (KN/m*)
@ +q) I L ( 140.58 + 13.05) x 2.290 x 1.000
2 - 2
175.91 (kN)
L 2 g +q _ 2.290 2 x  13.05 + 140.58
3 o + O -3 13.05 + 140.58
0.828 (m)
S x = 175.91 x 0.828 = 145.65 (kN m)

146.95 (KN/?)
2.10 (kN/m)

G + (G- q) 44%3,: 2.10 + ( 146.95 -  2.10)x ;::28
132.18 (kN/m?)
(@ +q) I L ( 132.18 + 2.10) x 2.290 x 1.000
2 - 2
153.75 (kN)
L 2 g +q _ 2.290 2 x 2,10 + 132.18
3 o + O -3 2.10 + 132.18
0.775 (m)
S x = 153.75 x 0.775 = 119.16 (kN m)

No.

23



7.2

iy
No S M
(kN) (kN m)
1 9.87 9.62
2 157.66 181.78
3 -175.91 -145.65
4 22.90 26.22
14.52 71.97
Mo = 53.32 (kN m) M
M = Mo
2)
No S M
(kN) (kN m)
1 9.87 9.62
2 157.66 181.78
3 -153.75 -119.16
13.78 72.24
Mo = 53.32 (kN m) M
M = Mo

53.32 (kN m)




7.3

No.
&
b = 1000 (mm) 00000 0o | L
d = 220 (mm)
As = D19 - 7.5 1000
= 21.49 (cm’) = 2149 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 2149 2 x 1000 x 220
= 1+ /14
1000 15 x 2149
91.1 (mm)
M= 53.32 (kN m)
S=  14.52 (kN)
2 M _ 2 x 53.32 x 10°
b x d- Ag, 1000 x 91.1 x ( 220 - 9;'1 )
6.17 (N/mm?*) o ca = 10.00 (N/mm*) 0.K.
M _ 53.32 x 10°
X - 91.1
As d - 3 2149 x (220 - 3 )
130.8 (N/mm?) osa= 160 (N/mm*) 0.K.
s 14.52 x 10°
b d = 1000 x 220

0.07 (N/mm*)

Ta = 0.45 (N/mm*) 0.K.
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§8

8.1

€))

O]

A=b

A=b

w
1]

h= 0.450 x 0.120 =

A yc L=

S x =

0.054 x 24.5

1.32 x 0.225 =

h= 0.450 x 3.680 =

A ys L=

S x = 3

1.656 x 19.0

1.46 x 0.225 =

0.054 (m)

x 1.000 =  1.32 (kN)
0.30 (kN m)

1.656 ()

x 1.000 = 31.46 (kN)

7.08 (kN m)

No.

26



3

g = 10.00 (kN/m*>)
S =q b L= 10.00 x 0.450 x 1.000 = 4.50 (kN)
x = 0.225 (m)
M =S x= 450 x 0.225=  1.01 (kN m)

©)

D

qr = 155.06 (kN/m*)
g: = 13.05 (kN/m*)
G =0 + (- g2) 44%5*: 13.05 + ( 155.06 - 13.05)x 2:228

= 38.11 (kN/m?)

(@ +q) b L _ ( 38.11+ 13.05) x 0.450 x 1.000

S = =

2 2
= 11.51 (kN)

DR 2 g +@ _ 0450  2x 13.05+ 38.11
T3 o + g -3 13.05 + 38.11
= 0.188 (m)

M = S x = 11.51 x 0.188 =  2.16 (kN m)



8.2

2)

D

2)

No.

o = 146.95 (kN/m*)
o =  2.10 (KN/m)
g =g + (- q) 78 = 2.10 + ( 146.95 - 2.10)x (2)::8
= 27.66 (kN/m*)
S (@ +q) I L _ ( 27.66+ 2.10) x 0.450 x 1.000
2 - 2
= 6.70 (kN)
y l. 2 g +q _ 0.450 2 x 2.10 + 27.66
3 o + O T3 2.10 + 27.66
= 0.161 (m)
M = S x = 6.70x 0.161 =  1.08 (kN m)
No S M
(kN) (kN m)
1 1.32 0.30
2 31.46 7.08
3 -11.51 -2.16
4 4.50 1.01
b3 25.77 6.23
No S M
(kN) (kN m)
1 1.32 0.30
2 31.46 7.08
3 -6.70 -1.08
b3 26.08 6.30
S = 26.08 (kN)
Moo= 6.30 (kN m)

28



8.3

No.
b = 1000 (mm) [0 00000 o] &
d = 80 (mm) ‘ 1000 ‘
As = D19 - 7.5 ‘ ‘
= 21.49 (cm’) = 2149 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 2149 2 x 1000 x 80
= 1+ /1 +
1000 15 x 2149
46.5 (mm)
M= 6.30 (kN m)
S = 26.08 (kN)
2 M _ 2 x 6.30 x 10°
b x d—% 1000 x 46.5 x (80 - 42'5)
4.20 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
M _ 6.30 x 10°
X - 46.5
As d - 3 2149 x (80 - 3 )
45.5 (N/mm*) osa= 160 (N/mm*) 0.K.
S 26.08 x 10°
b d 1000 x 80
0.33 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

29



